emw.Px IepsilonO_const*(emw.epsilonn«*emw.Ex+ emw.epsilonmy*emw.Ey+emw.epsilonnz*emw.Ez-emw.Ex) I
emw.Py epsilon0_const*(emw.epsilonnyx*emw.Ex+ emw.epsiloenryy*emw.Ey+emw.epsilonryz*emw.Ez-emw.Ey)
emw.Pz epsilon0_const*(emw.epsilonrzx*emw.Ex+ emw.epsilonrzy*emw.Ey+ emw.epsilonrzz*emw.Ez-emw.Ez)
emw.normP sqrt(realdot(emw.Px, emw.Px)+realdot(emw.Py,emw.Py)+realdot(emw.Pz,emw.Pz))

emw.Dx I epsilon0_const*emw.Ex+ emw.PxI

emw.Dy epsilon0_const*emw.Ey+emw.Py

emw.Dz epsilon0_const*emw.Ez+emw.Pz

What i expect, when i enter Relative permittivity (epsilonr), is :
e =¢&¢co = (14 x)eo

and Dx=epsilon0_const*epsilonr_xj*Ej

but insteed according to equations i get:
Dx= epsilon0_const*(Ex+epsilonr_xj*Ej)

permittivity acts as susceptibility, am I wrong?
Should I enter Relative permittivity, for
instance, for air as 0 insteed of 1 then?
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